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Part 1: 1% to 10" Multiple Choice Questions‘

. Which of the following is the lareest?
AW TR & K2
Pilihan manakah paling besar?

A, Qs 6 B. 2lose5 (. 3logst D. 3los6 E. 3

2. Let A be the set of points in the xy—plane satistying the equation |z| + |y| = 7. The

area of A 1s equal to
ARAT LA R B X1+ |y =78yl . AR
Aialah set titik pada satah xy yang memenuhi ayat matematik |x|+|y|=7. Luas Aialah

AT B. 28 C. 42 D. 63 E. 98

. What is the smallest altitude in the triangle with sides 20, 21. and 29.

WK M20. 211290 = fg e, HEhERE /e

Apakah ketinggian paling kecil segi tiga dengan sisi panjang 20,21 dan 29?

21-20 2029 2029

C. Ny —
29 23 21

1. fa+b+c=a?+P 4+ =+ + 3= % then abe equals

A 21 B. E. 20

tNER a+b+c:a.2+62+02:(23+b3+c'3:%. AR, abcETF
3

Jkaa+bt+ce=a?+P+2 =+ + 7 =
1
16

maka abc sama dengan

ol

C. 10 D. — E. 20

(SR

A =2 B.
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11.

12.

13.

Part 2: 11* to 25" Open-ended Questions‘

Kier has a salary of $202, 020, 020 this year, Next year, his salary will increase by 300%.
The year after, his salary will decrease by 75%. Compute his salary in two years.
Kier4F )% 4 /2£$202,020,020. BA4E, filf)H & F8N300%. < EH—9, B85 &5 b

75%. TP

Pendapatan Kier tahun ini ialah $202,020,020. Tahun depan, pendapatannya akan tambah
300%. Pada tahun kemudian, pendapatannya akan kurang 75%. Kirakan pendapatannya 2
tahun ini.

Let f(z) = z* and g(x) = %. Find the value of f"(2)g"(2).
1
iR f(z) =o' f o(0) = 4 # f1(2)0"(2) WAL

Andai f(z) = 2* dan g(z) = % Cari nilai f”(2)g"(2)

Compute the smallest root of z* — 2% — 522 + 2z + 6.
HE 2% — 2 — 52 + 22 + 6 MIBRIVR,

Kira punca paling kecil z* — 2% — 52% + 22 4+ 6
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22, Determine the exact value of
TEX

Kira nilai tepat

2
1 N 1
V2+v8+2  V2+B8-—
1 )
23. Find the integer which is closests to H—l\/_)
(1+
psmmn VY

Cari integer terdekat

(1+v3)*
4





